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1. There shall be Negative Marking for incorrect answer
and one forth (0.25) marks assigned to question(s) will
be deducted.

2. Candidate is required to write his/her Roll Number in (i) this
Question Booklet and (i) OMR Answer Sheet supplied
separately; and also put hisfher signature at the places
provided for the purpose.

3. This Question Booklet consists of this cover page, and a
total 60 ltems. Use blank pages available at the end of
Question Booklet for rough work.

4. There are four alternative answers to each item marked as
(a), (b), (c) and (d). The candidate will select one of the
answers that is considered to be correct by him/her. He/
She will mark the answer considered to be correct by filling
the circle.

5. Use black/blue point pen to darken the circle.

6. Seethefollowingillustration.
[llustration:
1. Thesumof20and 12is
(@32 (b)38 (c)31 (d)34
The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:
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7. Halffilled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked asincorrect.

8. The OMR Answer Sheet must be handed over to the
Invigilator before the candidate leaves the Examination
Hall.

9. Keep OMRAnswer Sheet straight. Do not fold it.

10. All questions are compulsory, each question carries one
mark.

1. Use of calculator/mobile/any electronic item/objection
material is NOT permitted.
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An example of “artificial system of
classification”

a) Hutchinson *

b) Engler and Prantl
c) Bessey

d) Linnaeus system

The first Phylogenetic system of plant
classification was Proposed by:

a) Engler

b) Eichler

c) Wettstein

d) Engler and Prantl

Karyotaxonomy is a branch of:
a) Cytotaxonamy

b) Artificial taxonomy

c) Numerical taxonomy

d) Branched taxonomy.

In binomial nomenclature:

a) Both in genus and species the first
letter is capital

b) Both genus and species are printed
in italics.

c) Genus and species may be of same
name

d) Genus is written after the species.

5. Two related but geographically isolated

species are known as:
a) Sibling species
b) Sympatric species
c) Allopatric species
d) Taxonomic species.
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10.

The famous botanical garden of Kew is
located in:

a) Franée
b) England
c) India

d) Germany

The Institution which encourages
publication of local flora is:

a) BSI
b) FRI
c) NBRI
d) IARI

Sal and teak are grown in:
a) Evergreen forests

b) Deciduous forest

c) Alpine forest

d) Mangrove forests.

Pain balms are prepared using essential
oil of :

a) Clove

b) Eucalyptus
c) Mentha

d) All of these.

L
Central Rice Research Institute is

situated In :
a) Cuttack
b) Kolkata
¢) New Delhi

d) Lucknow.
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2n number of Triticum aestivum is :
a) 42
b) 28
c) 14
d) 56

Brown colour of tea is due to :
a) Alkaloids

b) Tannins

c) Dyes

d) Liquid resin

Morphine, which is used as an
analgesic is obtained from:

a) Cinchona officinale
b) Papaver somniferum
c) Taxus brevifolia

d) Cupressus cashmeriana

Fleshy fruit with stony endocarp is
called :

a) Pomes
b) Drups
c) Capsule

d) Berries

Indian rose wood is :
a) Dalbergia latifolia
b) Erythrina indica
c) Ficus religiosa

d) Cedrus deodara
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The cell wall of bacteria is composed
of :

a) Murein

b) Chitin

c) Cellulose

d) Suberin

. Nitrogeh fixation is brought about by |

some specific forms of:
a) Bacteria and BGA

b) Mosses and ferns

c) Crucifers and cereals

d)Green algae and mosses.

Leg-haemoglobin is synthesized in :
a) Root nodules

b) Crown galls

c) Coralloid roots

d) Mycorrhiza

Bacterial leaf blight is a serious
disease of :

a) Wheat
b) Paddy
c) Maize
d) Pea

L

. Ti and Ri plasmids are found in the cell

of different species of :
a) Agrobacterium

b) Pseudomonas

c¢) Bacillus subtilis

d) Lacto bacilli
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. Neurospora has been used as tool in :

a) Genetic engineering

b) Gene cloning

c) Gene transplantation

d) Studying nutritional mutation.

The genetic material of a Viroid is :
a) DNA

b) RNA

c) Protein

d) Carbohydrate

Potato spindle tuber disease is caused
bya:

a) Virus
b) Prion
¢) Viroid
d) Fungus

Red snow formation is associated with:
a) Chlamydomonas nivalis

b) Chlamydomonas longistigma

c¢) Chlamydomonas coccifera

d) Chlamydomonas ooganus

Flagella of prokaryotic and eukaryotic
cells differ in :

a) Microtubular organization and
function

b) Type of movement and placement in
cell

c) Location in cell and mode of
functioning

d)Microtubular organization and type of
movement.
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’ USTsH B Afshg &am 8 ? the enzyme involved in respiration ?
®) TSSO |, BIRBRY a) Nitrogen, P
Q) FRrE |, Fe b) Mg, Mn
) DERRM BfERM ¢)K, Ca
H) wewR , el d) S, Fe

07 fr ¥ @ B firexfor=1 @ ufdgdl & 27. Which one of the following generally

7 § o Brare ? acts as an antagonist to gibberellins ?
%) o T ¢ a) IAA

@) sifes: b) Zeatin

) o c) Ethylene

m) 7T d) ABA

28. Which is responsible for apical
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R a0 d:)rr;r;ance?
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®) c) Auxin (1AA)
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29. Chloroplast dimorphism is a
characteristic feature of

29. FERIRe feowr fraaY fagar & ?

(a) Plants with Calvin cycle

9) C4 U (b) C4 plants
) T a9 (c) All plants
o) ®ad el (d) Only in algae.
30. C3 WYl # WA BT SgAlFES 30. Primary Carbon dioxide accept(;r in C:
ISR Plants is :
$) IR J &1 0 a) RUBP
) Maarer THiee b) Oxaloacetate
) PR OIS EIIE c¢) Phosphoglyceraldehyde
o) 6 g 6 d) PEP
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The international Day for Biological
Diversity (IDEP) is :

a) 22nd April

b) 16th September

c) 5th June

d) 22nd May

. India’s share in the global species

diversity is about
a) 2%

b) 4%

c) 6%

d) 8%

How many bio-geographical regions are
Present in India?

a)3
b) 4
c)7
d) 10

In green house gases which has
maximum percentage?

a) Methane

b) Nitrogen oxide
c) Carbon dioxide
d) CFC

Main Global Issues are :

a) Global warming

b) Acid rain

c) Depletion of ozone layer
d) All the above.
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36. How many base pairs are found in one
turn of DNA

a) 11
b) 10
c)9

d) 12

37. Okazaki fragments are formed in
a) The splicing of m-RNA
b) The synthesis of the lagging strand
of DNA
¢) The splicing of r-RNA
d)All the above

38. Translocase is an enzyme required for
a) DNA replication
b) Initiation of Protein synthesis
c) RNA Synthesis
d) Chain elongation in Protein

synthesis

39. Clover leaf model belongs to —
a) t-RNA
b) DNA
c) M-RNA
d) C-RNA

40. The word gene was coined by
a) Beadle and Tatum
b) Mendel

c) Darwin

d) Johannsen.
10.




41. I B AT ATZT I BT HRS Si1d DI 52

4 4

42.

43.

44,

45.

$) BRICIRIRT Fhacd
Q) TRt fadiamrer

NN S

Cbc't'idll QH YclldhIgH

JMTeeATRAT ATAT

g & ol FIC I BT RS Sid B
22

) SRTArT R

) Sfrer B

) TRAAT YBierer

o) Tt quRam

4.4 8

41.

42.

43.

44,

45.

Causal organism of late blight of Potato is
a) Phytophthora infestans
b) Plasmopara viticola
c) Colletotrichum flacatum

d) Alternaria solani

Causal organism of loose smut of wheat
is :

a) Ustilago scitaminea
b) Ustilago tritici

c) Puccinia recondita

d) Claviceps purpurea.

Red Rot of sugarcane caused by
a) Colletotrichum falcatum

b) Alternania solani

c¢) Fusarium oxysporum

d) Puccinia striiformis

Who gave the concept of ‘Innoculum
Potential’

a) J.H. Horsfall
b) S.D. Garrett
c) K.K. Reddi
d) Frankel Contrat and Williams
,y
White rust of crucifers disease caused
by
a) Cystopus candidus
b) Sclerospora graminicola
c¢) Plasmopara viticola

d) Erysiphe graminis
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46. True roots are not found in
a) Pteridophyta
b) Bryophytes
c) Spermatophytes
d) All Embryophytes

47. In Funaria, the columella is drived from .
a) Outer amphithecium
b) Inner amphithecium
c) Outer endothecium

d) Inner endothecium

48. Smallest aquatic fern is
a) Pteridium
b) Azolla
c) Marsilea

d) Salvinia

49. Rudimentary seed is produced by

a) All homosporous forms

b) All heterosporous forms

c) Selaginella rupestris

d) Marsilea quadrifolia

3

50. Cycas differs from Pinus in producing :

a) Porous wood

b) Manoxylic wood

c¢) Pycnoxylic wood

d) Female cone
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Coralloid roots of Cycas contain
endophytic cqlony of

a) Nostoc

b) Aulosira

c) Annabaena

d) Gloeotrichia

Pinus exhibits :

a) Polyembryony and polycotyledony
b) Zooidiogamy and Siphonogamy
c) Unbranched stem habit

d) Insect pollination

Angiosperms differ from gymnosperm
as they show

a) Double fertilization

b) Triple fusion

c) Triploid to polyploid endospems
d) All of the above.

How many microsporangia are found in
monothecous anther ?

a) Only one
b) Two
c) Four
d) Many
,

The part of Gynoecium which receives
pollens are called

a) Stigma
b) Style
c) Ovary
d) Ovule
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56. Tyloses are found in :
a) Secondary xylem
b) Secondary phioem
c) Sclereids

d) Sclerenchyma fibres

57. Medullary rays are made up of :
a) Parenchymatous cells
b) Sclerenchymatous cells
c) Tracheids
d) Fibres.

58. Heart wood differs from sap wood in :
a) Presence of rays and fibres
b) Absence of vessels and parenchyma |
c) Having dead and non-conducting |
elements
d) Being susceptible to pest and

pathogens.

59. Ligulate leaves are found in:
a) Poaceae
b) Lamiaceae
c) Apiacese

d) Molvaceae.

60. Gynandrous conditions means:
a) Adhesion of stamens and carpels
b) Cohesion of stamens
c) Stamens united by filaments only

d) Free stamens.




